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Indefinite integral of  𝒆𝒙 

Because the exponential function  𝑒௫  is its own derivative, it is also its own 

primitive: 

න 𝑒௫ 𝑑𝑥 = 𝑒௫ + 𝐶 

Indefinite integral of  𝒆𝒂𝒙ା𝒃  (𝒂 and 𝒃 constant) 
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Indefinite integral of  𝒇ᇱ(𝒙) 𝒆𝒇(𝒙) 

𝑑

𝑑𝑥
൫𝑒௙(௫)൯ = 𝑓ᇱ(𝑥) 𝑒௙(௫) therefore: න 𝑓ᇱ(𝑥) 𝑒௙(௫) 𝑑𝑥 = 𝑒௙(௫) + 𝐶 

Indefinite integral of  𝒂𝒙 

𝑑
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(𝑎௫) =
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(𝑒௫ ௟௡ ௔) = 𝑙𝑛 𝑎 𝑒௫ ௟௡ ௔ = 𝑙𝑛 𝑎 𝑎௫ so: න 𝑎௫ 𝑑𝑥 =

𝑎௫

𝑙𝑛 𝑎
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